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1 Plum G.C 4| ZHLL hDA 37.500
2 Plum G.C 5 BEHITE HLY 36.750
3 Plum G.C 6 Shh Ho 36.350
4 =F2KIZDa=F7 | 4| vOFLE AT 36.200
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1 Plum G.C 4| ZHLL hDA 9.600
2 Plum G.C 6 Shh Ho 9.300
3 Plum G.C 5 BEHITE HLY 9.200
4 =KD =7 | 4| ©OFLE AT 9.100
5 Plum G.C 5| Fo21& HHhY 9.000
6 Plum G.C 5 | MIZL HELY 8.900
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1 Plum G.C 5 BEHITE HLY 9.350
2| E2KIZPaz=7 | 4| DdFLE NAT 9.300
3 Plum G.C 6 Shh Ho 9.200
4 Plum G.C 4| ZHLL hDA 9.000
5| ELIZPa=7 [ 5| W2 LA 8.400
6] HIIKIEH=E | 5 =5 Hh 8.300
6 Plum G.C 5 | ML HELY 8.300
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1 Plum G.C 4| ZHLL hDA 9.500
2 Plum G.C 5| F¥o21& HhY 9.000
3 Plum G.C 5 | MIZL HELY 8.900
4 Plum G.C 6 Shh Ho 8.800
5 Plum G.C 5 BEHITE HLY 8.700
6] ENKZDa=7 | 4| DOFLE NAT 8.600
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1 Plum G.C 5 BEHITE HLY 9.500
2 Plum G.C 4| ZHLL hDA 9.400
3| EKIZPaz=7 | 4| DdFLE NAT 9.200
4l F2KIZPa=7 | 5| WIF=IZ Lhwia 9.100
5 Plum G.C 6 Shh Ho 9.050
6 Plum G.C 5 | MIZL HELY 9.000
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